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For Edition 2006/3 we received submissions from N. Hekster, Jinbi Jin, C.Jonkers, R.A.
Kortram, and Peter Vandendriessche. The solution of problem 2006/3-C will be pub-
lished in the June issue.

Problem 2006/3-A Evaluate /-1 log(x + 1)
= “dx.
0 x2+1

Solution This problem was solved by Jinbi Jin, C.Jonkers, R.A. Kortram, and Peter Van-
dendriessche. The solution below is based on that of Peter Vandendriessche.
Substitute x = tan(¢), then the integral can be written as
1] 1 i
I = / de = /4 log(1 + tant)dt.
0 0

. x2 41
Substitute t = 7 — s, then we get

0 1—tans i 2 s

hence I = ”1°§(2) :

C. Jonkers remarks that this exercise was also published in work of F. Frenet as well as
in Aufgabensammlung zur hoheren Mathematik of N. M. Glinter and R. O. Kusmin, (ISBN
978-3-8171-1641-6).

Problem 2006/3-B
1. Find an integer 7 (as small as possible) and rational numbers 4y, . .., a, such that

V10 +3V11 = i\/a
i=1

2. Find an integer 1 (as small as possible) and rational numbers by, ..., b, such that

Vv2-1 22%

Solution This problem was solved by R.A. Kortram and N. Hekster. The solution below
is based on that of R.A. Kortram.

1. Tt is a simple matter to verify the identity v/10 + 3v/11 = \/g + 4/ % It is also clear

that there is no rational number a such that v/10 + 3v/11 = /4, because the existence of
such a number a would imply that 10 + 3v/11 = 4, i.e. v/11 € Q; clearly a contradiction.
Thus, the smallest possible integer 7 is 2.

2. From the trivial identity (v/2 + 1)3(v/2 — 1) = 3, we derive that

(V2 + 1){/@ =3,
and after multiplying both sides by V4 — /2 4+ 1, we obtain
3y V2-1 =V3(V4-V2+1).
Thus, Y72 1= /5 + 73+ %

Now assume that there exist rational numbers a and b such that

VV2-1 =a+ Vb
Raising both sides of this identity to the third power leads to

V2-1 =a+b+3Vab(a+ Vb) =a+b+3Vab(\/ V2 - 1).

This implies that /2 — (a + b + 1) = 3v/ab(v/v/2 — 1). Raising both sides to the third
power shows that v/2 satisfies an equation of de§§ree 2 over Q:
3(a+b+1)(V2)2— B(a+b+1) —27ab)V/2 —2 — 27ab+ (a+b +1)3 = 0.

Since v/2 has degree 3, all coefficients must be zero, i.e.
(a+b+1) =0 3(a+b+1)—27ab=0 (a+b+1)3—27ab—2=0,

which is clearly impossible.



Problem 2006/3-C

Consider the triangle ABC inscribed in an ellipse. For given A the other vertices can
be adjusted to maximize the perimeter. Prove or disprove that this maximum perimeter
is independent of the position of A on the ellipse.

1 Solution

We received two submissions to this problem, one incorrect. The problem was solved by
Jaap Spies, who remarked that it is a classical result, based on the Poncelet theorem, to
be found in Darboux [1] Livre III, Chapitre III, Part 176 (see Appendix).

The statement of the problem follows from the Theorem of Chasles, which is given
below. For a modern proof of this theorem, we refer to Berger [2], p. 243.

Theorem 1.1 Let C be an ellipse and n > 3 an integer. Among the convex polygons with
n distinct vertices inscribed in C', there exist infinitely many with maximal perimeter. In
fact, one vertex of such a mazximal perimeter polygon (MPP) can be chosen arbitrarily on
C'. Furthermore, the sides of all n-vertex MPP’s are tangent to the same ellipse C!,, which
has the same foci as C.

Jaap Spies remarks that Lion [3] includes a proof that is independent of Poncelet’s Theorem.
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2 Appendix

A reprint of the pages of Darboux [1], containing the result.

Ak LIYAE HE — CHABITRE Hi.

deus edlés cunséenlifs sera lungente unx deux ediés ndjucents et,
de proche en proche. 3 tous les antres. Ainsi, nous obtenons ce
benu théortme de Chasles :

Les polygones de périméire macimum ¢t d’un nombre de
cités donné inscrits dans ane ellipse (K) decront dire eir-
conserits @ une ellipse (K'), homofocale i (E),

uprés cels, si nous voulons iuscrive e polygone de n cdiés, on
pourra procéder de lu maniéve suivante,

Prenons 'ellipse ( K'), suflisamment voisine de (E), et inscrivons
duns () une ligne hrisée A, A, ... A, Anys circonserite 3 (E'), Elle
ne se fermern pas tout d'abord. Mais, si Uellipse (E") diminue, le
point Ay, s'avancera sur (E), ot il arvivera nécessgirement un
moment ol il rejoindra A,. Alors la ligne hrisée se transior-
mery en un polygone convexe satisfuisant i toutes las conditions
glométriques que nous avons énnncées. Si ellipse (E') continue
& diminuer, le point \,,,, avangant lonjours sur (E), viendra
coincider une seconde fuis avec \, Je manidére & donner un
polygone qui ne se fermera qu'apris deux tours, et ainsi de suite.
On aura done, eomme duns le cercle, envisager i la fois des
polygones convexes et des polygones éloilés.

174 Daprés les théorimes de Punecelel, nous savons que, dés
«ue l'on uura obtenu un de ces polygones, il y en uorn une infinité.
Comme ils sutisfont tous a la condition du maximum il esL i prévoir
'ils auront tous le méme périmdtre. Cest une propriété dont on

léqeation
f.r I
() 5 .

Bia'a pour valewy

TN v -
ﬁ—tvu’ -,

il vxisters une inlinité de quadrilatires cirennscrits bAoAl et inscrils daws (K).
Lwa Feuk seru formd par Jes deux wiymplotes de Mhyperbole el par sex langenter
AKX sommpels,
Uetle sulution exige, comme on le vait, que lellipse () soit telle que I'un
nit
a<ey, o b ce.



LE THROKRME GEXERAL DK PONCELET. w3

pedt rutlucher In démonsiration & une proposition élégante de
Chasles,

Considéruns deux ellipses homofucales (E)., (E'), et supposons
que, d'un point quelecongue M de I'ellipse exiérieure (E), on méne
les denx langentes MP, MQ a ellipse intérieure ('), Nous allons
démontrer que, lorsque lv point M se déplacera sur (E), lu

Fig. 1.

différence entre la somme des tangentes MP, MQ) et P'are P(Q)
de Uellipse (F')
D = VP - TG —are IO

demeurera constante,
Pour cablir cetle proposition, nous emploierons la formule

caonnue s
AAB = — AN cos N AB — BB cos W DA,

relative i la diffirentielle d'un segment de droite AB qui, de sa
position primitive AB, pesse & lu position infiniment voisine A’ I¥',
Si nous Pappliquons successivement aux deux segmenis MP, MQ
en suppusant que le point M vienne dans lu position voisine M/,
HOUS ANFONS

A MP = — MW ens WAIP P17,
d?ﬂﬁ =— WAF cos \TMQ — Q0.

Si l'on ajoute ces doux rvelalions, en remarquant que, d’aprés la
propriélé de la tangento en M, les denx angles MTMT et MTMQ
sont supplémentaires, il vient

d(NP + NQ).= PP’ — §F = darc PY.

3



aky LIVRE [}, == CHABITRE Wil
La dilférence

U= MP + W) —arc PQ

¢sl done constanle, comme il fullait le démontrer,

Supposons maintenant que les ellipses (E), (E') soient telles
(u'il ¥ sit un polygone et, par conséquent, une infinité de poly-
gones inserits dans (E) el circonserits a (E'), En ealenlant la diffé-
rence précédente pour les sommets de ehacun de ces polygones el
njoutant toutes les dquations winsi oblenues, on sera conduit i
Pégalire

all= P —ip,

I drant le périmétre du polygone, & le nombre de tonrs qu'ill fuit
avanl de se fermer et p’ le périmitre de l'ellipse (1), P sera donc
le méme pour tous les polygones considérés.



